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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-1_0
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FRV (ml plant-1)

G3-1_0, Day=11 (2025-05-23)
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G3-1

BfiE) | EBEETI (FD) | EBE (EAH/HK) | XK R

08:15 54 30.0 E| {Bi%e08:15 Bz (REBHERE)
09:35 54 30.0 =l 1B2i1%@09:35 Bz (RFEREE)
11:35 54 30.0 =l Bige11:35 Bz (GREAEREE)
13:35 54 30.0 F 1RRi1%e13:35 Bz (RAERSE)
23] 216.0 (4%) 120.0 3ENHREC: 2500.0, PH: 6.2

EIREBRIHC R IRAREZ I (80 vs 54.0))

ZRIASLPRIERE45. 0 ml.

large discrepency for begining water status (28:183.0), set to 28 ml.

FERZERPH (10.34) 5i&5EPH (6.5) REK K, BT
BEXRERIPH (10.34) 5FMPH (6.5) REK K, HRE

FEXREBIEC (2533.0) S5FMEC (3047.0) REK K, BHHRE

EYGERPH (10.3) 5i18EE (6.5) REKK, FHE.

ERGEBPH (10.3) S5RAGEY (6.2) HERK, FRE.
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G3-1

BYE) | GEBERTIC (B)) | EBE (BEAH/#K) | XS R

08:20 80 30.0 |Z=| {Ri&e08:20 Fz (KEAEZEHE)
09:50 80 30.0 [2=| {RiBe09:50 Fz (kAERE)
12:25 80 30.0 | Rige12:25 F3 (REAHRRESE)
15:05 80 30.0 F BRige15:05 Fa1 (GREAERESE)
2it| 320.0 (4%) 120.0 3253 KEC: 2850.0, PH: 6.2

EIREBRIHC R IRAREIZ I (80 vs 54.0))

ZRIASLPRIERE45. 0 ml.

REXFEBIPH (10.34) 5i&%EPH (6.5) RERK, FHRE
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LRGERIEC (2450.0) 51RBIEY (2850.0) REK K, BHHRE.

ERGEBPH (10.4) 5iREME (6.5 RERK, BHRE.

EREBPH (10.4) S5REGZY (6.2) RERK, FEE.
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